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[rYYiiriad — Area of Trapezoids

Find the area of each polygon. Show all necessary work.
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Complete the following.

8) A signis in the shape of a trapezoid with a
bases of 12 inches and 9 inches and a height
of 8 inches. Find the area of the sign.

9)  You want to put a trapezoidal table in a
rectangular dining room. The table has bases
of 8 feet and 6 feet and has a height of 7 feet.
How many square feet of area will you have

2/ y / )A left over in that 11 by 8 feet rectangular room?
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10) The triangle and the trapezoid have the same area. What is the length / of the triangle?

7 cm
7cm

77 = 4ed*7
77= %54
3.9 3.5

10 ¢cm

12 cm
J
@44=%[b["'bz>k
=3 (10+10)7
-;Jz'/zZ)7
= )x7
= 77w




